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SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
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og=s4Y 500
OAZtl 22X 4|
8,000& x54/x13H x12& 6,240
02 35244l 12,800 13,500 A 700
O332=2 2 HA 12,800
202 04| 43,680 43,680 0
01 2LHOHI 43,680 43,680 0
OZU oyl 280,000& x13H x12& 43,680
203 AR E= | 8,940 9,600 A 660
NEEEE LS 5,940 6,600 660
Os& (o132 38t0|0t) 6,600,000& *90% 5,940
04 ENSIHRF=AY| 3,000 3,000 0
ORMN2I I RFAHI(15210]0l)
250,000& x12& 3,000
405 XH&HE S| 2,085 0 2,085
01 MY = ZFSHI 2,085 0 2,085
Cete et M2E SItH =40 U2 bHE S 1,185
- =2JtH & X+ 121,000& *1J1+132, 00024 385
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FOHEH Je23(M3S) 82,960 77,665 5,295
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05 8% -0 -tH¥ESE4S 59,040 59,040 0
os&d=¢ 200,000& x18H x12& 43,200
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FoUXXE 29Y 4,500 4,500 0
201 Let24d] 4,500 4,500 0
01 At 22l 4,500 4,500 0
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15,0003 25 «12& 4,500
SMFA & e 18,340 12,937 5,403
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02 2324l 18,340 12,937 5,403
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203 € R =&lY| 8,940 8,700 240
01 J| 222G R=AH| 5,940 6,600 A 660
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01 JHAtY = ZF S HI 1,150 1,900 AN T50
OLESZ&HZEH 1,150
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EN: 2AMISS
HM: M 2HAH (2AISS)
Sl Jl= A CERED
_ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
O 280,000 x 10 x12& 33,600
203 ZR= 8,040 8,700 A 660
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H: HM2AAH (B=21S)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OA2g A& S X228l 120,000& = 12& 1,440
O &AM A 100,000& =16 CH 1,600
202 (4] 43,680 43,680 0
01 2L Y] 43,680 43,680 0
Ol 280,000& x13¥ x12& 43,680
203 ¥R =&Y 8,940 9,600 A 660
01 J|229 P R=XY| 5,940 6,600 A 660
OSH (oI5 30 0|8 6,600,000& *90% 5,940
04 2SI L RF=AH| 3,000 3,000 0
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HE: HYL PP (R23S)
& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 36,960 36,960 0
01 = LH 4 Hl 36,960 36,960 0
O 2L o Hi 280,000& 11H <128 36,960
203 YR =&l 8,940 9,600 A 660
01 JI122E =4 5,940 6,600 A 660
O S& (27 32 0/2H) 6,600,000 *90% 5,940
04 FEXNSELR=LH| 3,000 3,000 0
O BNSHALETY (15201 5)
250,000& =128 3,000
405 XtatE SHI 3,140 9,500 A 6,360
01 HatH ESFH S 3,140 9,500 A6,360
O FUXX Z208E =AH(H) 7
320,000%2H 640
O =0UXX Z2IOHE SI(ST) 2
250,000+ 104 2,500
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